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1,4-Dioxane
Response Ratio

Concentration Ratio

      Response = 4.005e-001 * Amt + 1.042e-001
Coef of Det (r^2) = 0.994025   Curve Fit: Linear
Method Name:  Z:\svoasrv\HPCHEM1\BNA_P\Methods\8270E-BP032221.M
Calibration Table Last Updated: Mon Mar 22 17:08:54 2021
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Benzaldehyde
Response Ratio

Concentration Ratio

      Response = 5.729e-001 * Amt + 2.526e-001
Coef of Det (r^2) = 0.990666   Curve Fit: Linear
Method Name:  Z:\svoasrv\HPCHEM1\BNA_P\Methods\8270E-BP032221.M
Calibration Table Last Updated: Mon Mar 22 17:08:54 2021
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